SORELLE
N

(
Changer Table Alone Assembly Steps

VUnassemble your crib and get the components, then follow up below step.

VAttach the Additional Left-Front Leg (Z) and Additional Left Rear Leg(Y) to Changer Table as below.

& & & &
—_ & & & @é@

(Y) Additional Left - Rear Leg
For Changer table alone (x1)

(2) Additional Left -Front Leg
For Changer table alone (x1)

B

(e) M6 x 35mm Allen bolt -
from Crib (x 1)

D

‘l-\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\

(b) M6 x 60mm Allen bolt -
from Crib (x 8)

(c) M6 x 50mm Allen bolt -
from Crib (x 6)

-

% Sorelle®

Sorelle - A Division of C&T International, Inc.
46 Whelan Road, East Rutherford, N.J. 07073 U.S. A.
Tel, +1(201)531 1919 Fax,+1(201)531 1920
Website: www.sorellefurniture.com

*FURNITURE -

Full - size Conversion Kit
for Berkley Crib and Changer

Assembly Instruction

Important Information:
Read all instructions BEFORE assembling Bed.
KEEP INSTRUTIONS FOR FUTURE USE.

J

Made in QHY, China

N\



SORELLE
(" A

) (D) Left Front Post - from Crib
Headboard with Posts - Footboard - (W) Additional Right - Front Post
from Crib from Crib For Adult bed (x1)

(A) 224# Bed Rail (x2) (B) 224# Cross Slat (x4)

SORELLE

PARTS: Hardware and Tools

©) @l

a. Flat Washer x 8 d. Screw x16

M4 Hex Wrench Included with Crib

NG,

Phillips Screwdriver Not Supplied
€.M6 x 17mm Bolts x4 f. M6 x 20mm Bolts x4 ~ J.Nuts x4

\ v

Page 1

\
Step 5
A A mattress foundation must be
used with these bed rails.
Al
After ALL screws are tight, ensure the bed
rails are adjusted correctly side to side and
then tighten ALL BOLTS using the M4 Hex
Wrench (from Crib).
_/

Page 6



SORELLE

-

Required Hardware

d. Screw x16

Step 4

Attach Each Cross Slat (Part B) to the Bed
Rails (Part A) with (2) Screw at each end,
install the screw into the pre-drilled hold in
the rails using Phillips Screwdriver.

\‘(

~

Page 5

SORELLE

[

Adult Bed Assembly Steps

Step 1

Unassemble your crib and get the components, Headboard with Post and Footboard (C) and
Left front post(D), then follow up below steps.

\

Additional right-front post(Part W) to the
Footboard using (6) Bolts (supplied with
the crib).

@me.

CAttach Left front post (Part D-from crib) anc?

DO NOT completely tighten the bolts at this

J

‘lI\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\

(c) M6 x 50mm Allen bolt -
from Crib (x 6)

Page 2



SORELLE

[

Page 3

SORELLE

(Required Hardware

©

c. Flat Washer x 4

Step 3

(Attach Each Bed Rail (PartA) tothe |

Headboard with Posts (see Crib Assembly
Instructions) using (2) Bolts and Nuts(2)
and (2) Flat Washers (Part c).

DO NOT completely tighten the bolts at this

\
Required Hardware | Step 2
c.Flat Washer x 4
eM6 x 17mm Bolts x4
(- . R
Attach each Bed Rail (Part A) to the
Footboard with Posts using (2) Bolts
(supplied with the crib) and (2) Flat
Washers (Part c).
DO NOT completely tighten the bolts at this
(ime. )
J

N\

~N

\tlme. )

Page 4



	页 1
	页 2
	页 3
	页 4

